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=TI bkl 1,127,326 1,112,413 14,913
= 184,229 169,719 14,510
< 31,830 31,830 0
Al 911,267 910,864 403
DAOE DIRNHIA HD 923,304 908,893 14,411
= 184,229 169,719 14,510
< 31,830 31,830 0
Al 707,245 707,344 99
DHOLE UANHA HB 211,685 208, 175 3,510
= 19,110 15,600 3,510
Al 192,575 192,575 0
R 19,110 15,600 3,510
= 19,110 15,600 3,510
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Al 23,320 23,419 99
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= 1,295 0 1,295
202 04l 4,560 2,400 2,160




2N BRI
HE: DMOIE DIRAMHIA KT
ool UMY Zae HMD

SA- - H2A(3A) - MRANEY - BES Off &t 24 I ZH Hnsz
= 2,160 0 2,160
Al 2,400 2,400 0
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= 2,000 0 2,000
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= 4,000 0 4,000
101 2124 Hl 4,000 0 4,000
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